Graph sucht Gräphin


Karten längs falten, aufeinander kleben und ausschneiden und dann auseinanderschneiden.
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	f(x) = (x + 2)²
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	f(x) = (x – 2)³ + 3,5
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	f(x) = (x – 1,5)² – 3
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	f(x) = 0, 5x5 + 3
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	f(x) =  – 2(x + 1,5)² + 3
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	f(x) =  – 2
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	f(x) = 0,5 · 
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	f(x) = 2,5 · 
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	f(x) = x –2 – 2
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	f(x) = (x – 2)–1
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	f(x) = 2x –2
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	f(x) = (x – 2) –1 + 2
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	f(x) = – x –2 + 1
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	f(x) = x –1 + 2
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	f(x) = (x + 1) –2  
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	f(x) = – x –1
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	f(x) = (x + 2) –2 – 2
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	f(x) = – (x – 3)–1
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	f(x) = x³ + 4
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	f(x) = x² – 2,5
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	f(x) = –2x4 – 3
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	f(x) = 0,5x² – 2
	[image: image95.png]




	[image: image96.png]



	[image: image97.png]




	f(x) = – (x – 1,5)³ – 2
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